"“AW'@ MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

Stanley Access Technologies

65 Scott Swamp Road

Farmington, CT 06032

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Series “Dura-Glide 2000/3000” Aluminum Automatic Sliding Glass Door

APPROVAL DOCUMENT: Drawing No. 05-SAT-0025, titled “series 2000/3000 Dura-Glide Automatic

Sliding Glass Door”, sheets 1 through 4 of 4 prepared by Engineering Express, dated 10-13-98 and last revised on

07/16/2009, signed and sealed by Frank L. Bernando, P.E., bearing the Miami-Dade County Product Control

Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product

Control Division.

MISSILE IMPACT RATING: None: Approved shutters complying w/ FBC are required.

Limitations: 1. Not approved, where water infiltration required, unless protected by overhang complying w/ FBC
2. Electrical devices are not part of this approval and must be reviewed by corresponding authority.

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and

following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no

change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the

materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any

product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply

with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by

the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall

be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 07-0511.03 and consists of this page 1 and evidence page E-1, as well as approval

document mentioned above.
The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No 09-0323.24

MIAMI-DADE COUNTY Expiration Date: December 04, 2011
Approval Date: August 19, 2009

Page 1

v

a
K 4



Stanley Access Technologies
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
1. Manufacturers die drawings and sections.
2. Drawing No. 05-SAT-0025, titled “series 2000/3000 Dura-Glide Automatic Sliding
Glass Door”, sheets 1 through 4 of 4 prepared by Engineering Express, dated 10-13-98
and last revised on 07/16/2009, singed and sealed by Frank L. Bennardo, P.E.
Note: This revision consists of extrusion part numbers & addition of cluster anchors and
compliance to FBC 2007.

B. TESTS (Transferred from NOA# 07-0511.03) Original test conducted per SFBC, PA 201,
-94 now termed as TAS 202-94
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94 (Not Performed)
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
Along with installation diagram of an automatic aluminum sliding glass door with fixed
panels, prepared by Fenestration Testing Laboratory Test Report No. FTL1179, dated 11-
03-1995, signed and sealed by Yamil Kuri, P.E.
2. Additional verification test report # FTL 5098 (06214) dated 02/02/2007, issued
by Fenestration Testing Lab, signed and sealed by Michael Wenzel, P.E.

C. CALCULATIONS
1. Anchor Verification Calculations, complying w/ FBC-2007, dated 03-11-2009, prepared,
signed and sealed by Frank L. Bennardo, P. E.
2. Glazing complies with ASTME-1300-02 &-04

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. None

F. STATEMENTS
1. Statement letter of anchor verification compliance to FBC-2007, dated March 12,
2009, signed and sealed by Frank L. Bennardo, P. E.
2. Statement letter of conformance and “no financial interest”, dated 03-12-2009, signed
and sealed by Frank L. Bennardo, P.E.

G. OTHER
1. This NOA revises NOA # 07-0511.03, expiring December 04, 2011.

\olhas \. Lhaunl

Ishaq I. Chanda, P.E.

Product Control Examiner

NOA No 09-0323.24

Expiration Date: December 04, 2011
Approval Date: August 19, 2009



g

AT-0025_02d Dura Glide.dw:

F:101 Project Files\Stanley (SAT)\2005 Jobs\05-SAT-0025 Dura Glide 2-3000, Non-Reinf, Non-Impact (NOA)\05-S,

rbartlett

07/16/2009 - 3:49pm

DURA-GLIDE 2000/300

NON-REINFORCED BI-PART AUTOMATIC SLIDING GLASS DOOR
NON-IMPACT RESISTANT

FRANK L. BENNARDO, P.E.

# PE0046549

ANCHOR TYPE

IN CONCRETE (3000 PSI MIN): @1/4"
POWERS PERMASEAL TAPPER WITH 1
1/2" MIN EMBED AND 3" MIN EDGE
DISTANCE
IN A36 STEEL (%" MIN THICKNESS):
1/4-20 SMS SAE GRADE 5 OR BETTER
IN WOOD (G=0.55 MIN): #14 WOOD
SCREW WITH 1 1/2" MIN EMBED AND
3" MIN EDGE DISTANCE

(NOTE: MINIMUM 2X4 WOODBUCK
FOR WOOD SCREWS)

ANCHOR SPACING

SILL: DOUBLE ROW, 4" FROM EACH
CORNER WITH REMAINDER SPACED
AT 9" O.C.

HEAD: SINGLE ROW, 6" FROM EACH
CORNER WITH REMAINDER SPACED
AT 16" O.C.

JAMBS: SINGLE ROW, 6" FROM EACH
CORNER WITH REMAINDER SPACED
AT 17" O.C.

INTERIOR

X"

=

%

X"

) ;

EXTERIOR

ADAMS RITE 1853A

3-PLY THROW BOLT

KEY OPERATED ON EXTERIOR
THUMB TURN ON INTERIOR

®

iy

P’:‘L

SEE LOCK MECHANISM
DETAIL ON SHEET 3

'_T ELE'CTRIICAL PP

(] II@

16" O C.

i

(Ill)

CLUSTER OF (3) ANCHORS

6“

ﬁ

AT HEAD AT EACH VERTICAL

SEE SO PIVOT
@?/- DETAIL ON SHEET 3

o8

a

F

17" O.C.

37%" MAX

D.L.O. WIDTH

e 1 LT
sLipE  \L4LIDE
/ <
o

e

L

1/4" SHIM SPACE

J

v

J

i

SO

SX

SX

- _,_U 5:..
_OE 9 DIRECTIONAL
N g MOTION
e ——— v
w SENSOR
<€
4
w -
A o
©

STAN-GUARD
—

T

(I\[)

Ik

9"OC

T T

ﬂwm°

CLUSTER OF (6) ANCHORS IN (2)

it

71—

1"

ROWS AT SILL AT EACH VERTICAL

168" MAX FRAME WIDTH

EXTERIOR ELEVATION

INTERIOR

J—

EXTERIO

DIRECTIONAL
MOTION SENSOR
EACH SIDE OF
DOOR

R

==

PACKAGE WIDTH

STAN-GUARD
THRESHOLD SENSOR

EXTERIOR

| ©

||| Z

"go /

1

ngx"

/\

72" CLEAR DOOR

OPENING

"SOM

-

~

——

6'-10 1/2" CLEAR OPENING

®

FINISHED
FLOOR
(RECESSED)

EMERGENCY BREAKOUT
SIDELIGHT AND SLIDING
DOOR

7'-8"

1/2n B

CLEAR OPENING WITH DOORS BROKEN OUT
AND STACKED TO BOTH SIDES = 12, ANCHORS SHALL BE INSTALLED PER MANUFACTURER'S MEEEEE
ANCHORS AgE %QFUSBIII_.EL S SPECIFICATIONS, SPACED AS NOTED HEREIN. ANCHOR g S8 122
D PLAN VIEW ROW EMBEDMENT TO BASE MATERIAL DOES NOT INCLUDE WALL =|Slele|s
DRESSING OR STUCCO. 2
P R O FRAME SEALED ON — — FINISHED FLOOR 13. ALL BOLTS & WASHERS SHALL BE ZINC COATED, HREEIE
= (SURFACE MOUNT) GALVANIZED, OR STAINLESS STEEL WITH A MINIMUM TENSILE 2| | [ 1
INTERIOR u STRENGTH OF 60 KSI, EXCEPT INSTALLATION ANCHORS. AREEEL
2" X 2" X 3/8" i G, 14. ALL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED
OPEN CELL FOAM PAD % ﬂ W&% z nfa) OR COATED. 0
® 18 15. ANY ELECTRICAL COMPONENTS ARE NOT PART OF THIS g iz
< e oyt TS J N APPROVAL. AL
PACKAGE HEIGHT INFORMATION FOR SURFACE APPLICATIONS @ ( > N ™ 2l § % 8
ACTUAL EXTERIOR i | W E 2 § % S|
" " — w '% =3k g 'é
CAULKING | CLEAR OPG ‘ @ SO @ s gzsoss
PKG HT MASONRY OPG ALLOWANCE | UNDER HEADER 1 3/4" :;RODU:;I‘ RE\;{:S::?D“‘M&& 5
CHmpIyIRg Wi (] - -
92" 92 1/4" 1/4" 82 1/2" Butding Code 03 >-SAT-0025
*INCLUDES 1/2" THRESHOLD 1 3/4" X2 1/8“ LONG X 3/16" Aecepm'xce xgd OG-0 3 'Zy PAGE SCALE: -
) EXTRUDED ALUMINUM APPLIED INTERLOCK Expiretion Pute Dpr gy, 20 )| —|PESCRETION:
PACKAGE WIDTH INFORMATION WHEN RECESSING PACKAGE DEDUCT 1/2 SECURED WITH (2) #10-32 X 3/8 LONG :
FLAT HEAD SCREWS py sbae ) (lnw b -
DOOR PKG SLIDING DOCR (SX) DOOR (S0) DOOR DOOR MASONRY CAULKING Miam! Dade Product Contvol 4,
PKG WIDTH | OPENING WIDTH WIDTH TRAVEL OPENING ALLOWANCE Divisica
9-3372 | 168" 72" 42 5/16" 42 5/16" 36" 168 1/2" | 1/4" / SIDE ﬂ J

POSITIVE DESIGN PRESSURE +47.8 PSF

NEGATIVE DESIGN PRESSURE -47.8 PSF

GENERAL NOTES:

1. THIS PRODUCT HAS BEEN TESTED & DESIGNED IN
ACCORDANCE WITH THE REQUIREMENTS OF THE 2007 FLORIDA
BUILDING CODE- HIGH VELOCITY HURRICANE ZONE (HVHZ) -
AND MIAMI-DADE PROTOCOLS TAS 202 AS A NON-IMPACT
RESISTANT SYSTEM,

2. NO 33-1/3% INCREASE IN ALLOWABLE STRESS HAS BEEN
USED IN THE DESIGN OF THIS SYSTEM. WIND LOAD DURATION
FACTOR Cd=1.6 HAS BEEN USED FOR WOOD ANCHOR DESIGN.

3. POSITIVE & NEGATIVE DESIGN PRESSURES CALCULATED
FOR USE WITH THIS SYSTEM SHALL BE DETERMINED BY OTHERS
ON A JOB-SPECIFIC BASIS IN ACCORDANCE WITH THE
GOVERNING CODE.

4. THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT
PROVIDE INFORMATION FOR A SPECIFIC SITE. WHERE SITE
CONDITIONS DIFFER FROM THE CONDITIONS DETAILED HEREIN,
A LICENSED ENGINEER OR REGISTERED ARCHITECT SHALL
PREPARE SITE SPECIFIC DOCUMENTS FOR USE IN CONJUNCTION
WITH THIS DOCUMENT.

5. PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE
EXISTING STRUCTURE TO WITHSTAND ADDITIONAL IMPOSED
LOADS. WOOD BUCKS NOT BY THIS PRODUCT MANUFACTURER
SHALL BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE
HOST STRUCTURE.

6. THE PRODUCT DETAILED HEREIN HAS BEEN DESIGNED AND
TESTED TO THE MAXIMUM SPANS & LOADS SHOWN ON THESE
DRAWINGS. REFERENCE FTL TEST REPORT #5098.

7. ALL ALUMINUM PARTS ARE 6063-T6 ALUMINUM.

8. GLAZING: 1/4" TEMPERED GLASS.

9. ALL UNITS SHALL BE INSTALLED WITH MIAMI-DADE COUNTY
APPROVED IMPACT RESISTANT SHUTTERS FOR ALL
INSTALLATIONS.

10. CORNER PANEL CONSTRUCTION: PANEL CORNERS ARE BUTT
JOINTED, SECURED W/ (4) FULL-WIDTH 5/16" THREADED TIE
RODS AT TOP RAIL, INTERMEDIATE HORIZONTAL MUNTIN BAR
AND BOTTOM RAIL.

11. GLAZING MATERIAL IN BOTH FIXED & SLIDING PANELS OF
ALL SLIDING DOORS SHALL COMPLY WITH THE REQUIREMENTS
IN THE PERFORMANCE SPECIFICATIONS & METHODS OF TEST
FOR SAFETY GLAZING MATERIALS USED IN BUILDINGS.

07/ 09
(O
cZ [89¢%
aipe 352
<WB|ra s
ttl.IJLu o5 Y
<7 cro % d
=)
oI EE S
z cm3 28
u.lzx s oW
3] NQ<Q ©
Sz 28
Bmgg
Ny n
oﬁf‘%

STANLEY

ACCESS TECHNOLOGIES

65 SCOTT SWAMP ROAD
FARMINGTON, CT 06032
DURA-GLIDE SERIES 2000 & 3000
AUTOMATIC SLIDING GLASS DOORS
(BI-PART, NON-REINFORCED, NON-IMPACT)




g

AT-0025_02d Dura Glide.dw,

F:\01 Project Files\Stanley (SAT)\2005 Jobs\05-SAT-0025 Dura Glide 2-3000, Non-Reinf, Non-Impact (NOAN5-S,

rbartlett

BILL OF MATERIALS

PART NUMBERS /

FRANK L. BENNARDO, P.E.
# PE0046549

ITeM - Qry DIE NUMBERS DESCRIPTION
1 1 313878 DURA-GLIDE 2000/3000 BI-PART NON-IMPACT
2 2 412860 JAMB INSERT
3 1 157537 JAMB ASSEMBLY, 4.500 X 1,750 X .100
4 1 157538 JAMB ASSEMBLY, 4.500 X 1.750 X .100
1 515260 THRESHOLD
. 1 516339 THRESHOLD
1 515262 THRESHOLD
1 516340 THRESHOLD
6 1 - HEADER ASSEMBLY
6A 1 515686 HEADER COVER, 8.468 X 1.968 X .109
68 1 110755 HEADER, 8.000 X 6.000 X .140
6C 1 515056 HEADERTRACK TUBE, 4.624 X 3.110 X .125
7 1 110937-1 DOOR PANEL ASSY, SX - RH
8 1 157655-1 HANGER -SX, RH
9 3 380257499 NUT-HEX-JAM 3/4-10
10 2 412406 ROLLER ASSY-ANTI RISER
11 2 711627 PLATE-BACK UP
12 1 411622 DETENT ASSY-SX- HANGER PORTION
13 7.031 411628 PILE, ADHESIVE BACKED
14 1 515700 PIVOT ASSY-SX DURA GLIDE
15 0.002 708135 SEALANT-LOCTITE 242
16 2 515190 CAP-END-HANGER-DK BZ
17 2 312010000 SCREW,FHM-PH 8-32 X 7/8
18 1 157550 STILE-RH LEADING SX
19 1 157552 STILE-RH PIVOT SX
20 1 157566-2 RAIL-TOP-5X
21 1 157526 RAIL-BOTTOM SX/SO PANEL
22 | 50.188 706812 WEATHERSTRIP-GLASS STOP
23 1 412700-1C BRUSH, BOTTOM SWEEP
24 1 413805 HOLDER-SWEEP
25 1 516699-3 DETENT,NARROW STD(RH) & MED W/A CTRL (RH)
26 1 515265 GUIDE ASSY-BOTTOM-3000
27 6.74 411624 PILE, ADHESIVE BACKED
28 | 13.479 411624-1 PILE, NON-ADHESIVE BACKED
29 4 706233 NUT-HEX-FLANGED-5/16-18
30 2 711474 NUT-TIE ROD 5/16-18
31 2 711475 WASHER, TIE ROD
32 4 412479 CLIP, GUIDE
33 1 709221 THUMBTURN-LOCK
34 2 710241 PLUG-HOLE
35 3516 713050 PILE-HANGER
36 4 347133000 SCREW,HS-FL-SK 3/8-16 X 1/2
37 2 312004960 SCREW,FHM-PH 8-32 X 3/8
38 4 713321-1 SCREW,PF 10-32 X 1/2 55
39 2 351801499 SCREW,SHC-SK 1/4-20 X 3/8
40 1 412407 STANDOFF-.3271D 56200 .640L
41 1 353365000 SCREW,SHM-SK 5/16-18 X 1 1/2
42 1 351248499 SCREW,HHM- 5/16-18 X 1
43 1 382023499 WASHER, PLAIN 3/8 ID X 7/8 OD
44 1 380901499 NUT-HEX JAM 5/16-18 ZINC
45 2 710888 SCREW, FHM-PH 1/4-20 X .592
46 2 412638 DECAL CAUTION AUTO SLIDING DOOR
47 2 411499 WHEEL ASSY-LOAD
48 1 111916-1 RAIL-INTERMEDIATE-2" NOM PROFILE
50 2 412472 GLASS STOP, SQUARE EXTRUSION SHORT
51 2 707807 GLASS STOP, SQUARE EXTRUSION LONG
53 4 412637 GLASS STOP, BEVELED EXTRUSION LONG
54 4 412569 GLASS STOP, BEVELED EXTRUSION SHORT
55 1 711483 GROUP-TIE ROD 5/16" DIA
56 2 711568 HOOK-SECURITY CLEAR

07/16/2009 - 3:49pm

o
57 1 110935-1 DOOR PANEL ASSY, SX - LH, (SAME AS 110937-1) g , \
58 1 157551 STILE-LH PIVOT SX e
59 1 157566-1 RAIL, TOP - SX M
60 1 516699-4 DETENT, NARROW STD (LH) & MED W/A CTRL (LH) )]
61 1 157549 STILE-LH LEADING SX 7 lseqe
62 2 312251960 SCREW,FHM-PH 10-32 X 1/2 we=e 233
63 1 516692 ASSY STRIKE PLATE g i NI*SE =
64 1 7IN PGO1-170063-]  PANEL ASSY-LHSX-RECESSED EXIT DEVICE-A/C 2 Ll Oluzs9 .
65 2 320821960 SCREW-T/F-FLH-REC-#10-32 X 3/4 v |-|-||_u > .8 8
66 2 415020-1 BRACKET-CLIP-MACHINING o Z_[I u ERE
67 4 713190 SCREW-SELF DRILLING #10 X5/8 PO S vz
68 2 713974 SPACER-NYLON z7X[5¢ 8o
69 1 110926-1C DOOR PANEL ASSY, SO -RH, (SAME AS 110937-1) SN REEER:
70 1 157555 STILE-PIVOT SO = N
71 1 157554 STILE-RH LEADING SO hes 3 =
72 5 157601-2 RAIL-TOP-SO ol
73 1 410100 PIVOT ASSY-50-RH-LOWER S0
74 1 413829 PIVOT ASSY-RH
75 2 708867 DETENT BALL ASSY
76 1 711463-A MAGNET BREAKOUT SWITCH
77 1 411709 HOLDER ASSY-DOOR
83 1 110925-1C DOOR PANEL ASSY, SO -LH, (SAME AS 110926-1C)
84 1 157601-1 RAIL-TOP-SO -
85 1 157553 STILE-LH LEADING SO "3
86 1 410101 PIVOT ASSY-LH-SO-LOWER © S&E
86 1 413828 PIVOT ASSY-LH S PG ez
87 1 - ADAMS RITE SERIES 1853A SNGL, ACT. 3-POINT LOCK 1T et hgrel
QRolsR™
| EEtHERE
FRODUCT REVISED 220[ne8
88 complying with the Floridz 2 BEEFES
Baiding Ceds o o Wo >
Aegeptance No -0323-29/ < n E g Wi
Expiration Date / h n8s|a o
baZldEz
By lﬁl«aﬁ ‘(thé- ) BEE (.D;z
Miami Dadc/Produst Coutrel 251
MA fon =y 4
§ o2«
<o
)
GLASS(SEE GLAZING
GLASS (SEE SCHEDULE)
GLAZING 0.460" MIN GLASS STOP— /" VINYL BULB (22)
" | / SEREHEE
Si|NN |
il GEIEI S
[=]
x
PHeLass-sTop)(51) =k IR
§ 2 W, :
F VINYL Bl 55123
4 ?: CTT BULBS | | =
W
=
el (53) GLASS $TOP-GUTTER o | IE|E|3
GLASS STOP-GUTTER 2wl 8|2
/V HEEEER
VERTICAL GLAZING DETAIL HORIZONTAL GLAZING DETAIL S5 SAT0035
PAGE SCALE: -
DESCRIPTION:

GLAZING SCHEDULE

1/4"™ TEMPERED GLASS

PENETRATION.

PANELS ARE INTERIOR GLAZED WITH 0.460" GLAZING

25




ADAMS RITE SERIES 1853A

4 o)) §866# HLNY 40 183D (1DOVdWI-NON ‘a3D2d04NITU-NON ‘Lyvd-I19) 7o) < J
u o \ WOD dXIONI MMM SY00A SSY19 ONIATS JLLYWOLNY o
g o | £pP0-#SE (¥56) X4 0990-¥SE (¥S6) :Hd 000¢€ 8 000Z S3Nd3s 3AI19-vind m
2 m \ ZbPEE 14 ‘HOvaA4 @T31dy¥33da ZE090 1D ‘NOLONIWYVS ]
z | 90T# ‘ANNIAV YIZT MS 091 avod dWvyms 1102JS §9 GO/GL/L0| E1d] S| SINIWWOD-O8il0e) | b ] @
el SIIOOTONHIIL SSIDDV 20/5L/90] 19| ey SINIWWOD 0088 <C 415
8 ﬂ e SSIHAXT ® ) 50/62/80]  a1d| TNV sinaanod ANnos| | U |SIE
KM R SO/v2/80| a1d| TNV 284 #0027 1 o1y
gk _m SINIH=INIONS >ml—z<l—lm 86/SHI0L 1 - InSSI NI % mm
™ 40 IAVITId4Y A3aSNIADIT Jiva | AHO|NAMMAa SHMVYININ alof 4
_ /
//\\
1 b 3[E
_Si8
m m \ L w
€ O w_ \lw
=E o =
€ oo & m STe
£ .M I
G 2089 M
f] L]
BESEE <
HHHE
£adic BEE
w ) ) ) ) \ L
L
LK L 2
<
o
S ?
N
N NN =
ARNNN NN <
N N <
10]
&)
T
L m
/l\'\l.\ \/\ _\ m
38
T
i
=
[T
o)
s
o)
=3
| W
e N /.\ /
\II/'\}II
N N\ —
N\ N r
N RN O
NN RN m
AN AN w
T
=4
—
=
O
o
— [T
° ﬁ M/ M/ M/ =
) ) ) L L
o % S
I j K K K K L
<
T
(18]
[a)
a
N N\
N N @
N NN T
VR RN &
N\ = > N =
=z =
=m L
o=
ooy | ]
e = < r\/ ﬂ
o W Ly
= o))
29 ?
i
-
G}
=
)

Bmp-aplio) BINQ P20 $200~1YS-GOMVON) 10BdWI-UON 'JUISH-UON ‘000£-Z 9PIIS BINA SZ00-LVS-SONSTOr S00Z\(1YS) Aelueig\salid 10alold | ovd

ETERT

wdog:€ - 6002/9}/20



g

\05-SAT-0025_02d Dura Glide.dw,

F:\01 Project Files\Stanley (SAT)\2005 Jobs\05-SAT-0025 Dura Glide 2-3000, Non-Reinf, Non-Impact (NOA)

rbartlett

07/16/2009 - 3:50pm

EXTRUSIONS

NOT TO SCALE (6063-T6)

1.735"

QT

0.093"

'— 2.000"

Ky S——

MUNTIN BAR 2.0"
EXTRUSION 412741

(19

2.000"

1.750"

STILE
EXTRUSION 412468

0.109" 1t~

8.468"

.

p————+—1.968"

COVER-HEADER
DURA-GLIDE
EXTRUSION 515686

1.735" T

———

2.875"

0.093" 41+

[s——— 2]

TOP RAIL, SX
EXTRUSION 516643

—

1.750"

eSS g

-+¢4—0.093"

2.125"

- —

(s ——— 7]

STILE
EXTRUSION 412467

f———6.000" ———4

-1+-0.140"

B

i

TRACK TUBE
DURA-GLIDE
EXTRUSION 515056
INTERLOCKS HERE

]

-

1.180"

1»—1.735"«

63

1. 844"~T—T

0. 062"j

INSERT

EXTRUSION 412860

%

M 0.236" ¢ ¢
0. 125' 4 E ) § o [o .041"
s | [ = T
0.162" -
- —— 1.536"
TOP RAIL PANEL HANGER DURA-GLIDE
EXTRUSION 415052 EXTRUSION 515031 GLASS STOP
EXTRUSION 412637
1.750" 4.500"
DS
t 1
00
: N
~+440.093" § m&% 7
~
JAMB-4 1/2
EXTRUSION 412858
LS
STILE 500"
EXTRUSION 412476 @
i 4.5" '
FO.O%H ‘
ALTERNATE

1.735"

8.000"

-4+ 0.093"

3.875"

HEADER
DURA-GLIDE
EXTRUSION 110755

RAIL, BOTTOM-SX/SO
EXTRUSION 412470

THRESHOLD-TAPERED ONE SIDE
EXTRUSION 516340

] 0.516"

0.625"

0.051"

GLASS STOP
EXTRUSION 412569

0.376"

FRANK L. BENNARDO, P.E.
# PE0046549

ot

.0
% 4
(oY) W =
++-0.125" © ET
< <
s
TN
5%
(]
iz
3.110 5 W
TRACK TUBE

EXTRUSION 515056

EX

EXPRESS®

160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442
PH: (954) 354-0660 Fax: (954) 354-0443
WWW.ENGEXP.COM
CERT OF AUTH #9885

@ FO.O96"

THRESHOLD
DURA-GLIDE 3000
EXTRUSION 515262

?_—Lé'fé?"'—}

.500"

ALTERNATE
THRESHOLD-TAPERED TWO SIDES

EXTRUSION 515260

PRODUCT REVISED
28 eomplying with the Florida @
7—0ZZBZV

4.500" i

JLO'SOO"

T-o.519"41

o
LL
d
.
o
72/

~
|—
2
oo
=¥ r
RRZ

0n o~
EQE"O’ BnQ
goalgus
0xo ojg
_IQ_|_ qu_'
2z0|n,9
::‘;‘ EES
S P
w iz
U)Oz Ll-l(nﬁ
U)UH DUI
wazles=sz
ONZIFES
Uln < y Lz
<O éz -

[e]

3EE
22
)

EXTRUSION 412472

Buiding Code T MEIEIERERE
Acceptance Ne O7mE 262" 'g AR
Expiration Daiew 0.051"4+ & 353|215 /5
o

Mismi Dade S|, |zlzio|d
Bivislon é J|almim
GLASS STOP gl 3|2|2E
EXTRUSION 707807 i
e |2
zie|2
S
= 7] OI=i0
2 §§g§§g
3 0.041" 3% \z|g|E
7 Tf » HEEEEE

L_ \ — 05-SAT-0025
PAGE SCALE: -
DESQ!lPTlON:

1.536" , -
GLASS STOP 4

&




